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QUESTION 1

A VM on the Vblock System 320 is unable to communicate on the customer network. When examining the virtual
machine, you notce it has the same port group as the other VMs on the same ESXi server. Which acton must you
perform to resolve the problem?

A. You must reboot the VM.

B. You must restart the network agents on the ESX server.

C. You must verify that the VM\\'s network adapter is connected.

D. You must install the Nexus 1000V agent on the virtual machine.

Correct Answer: C

QUESTION 2

Which three components are part of the Vblock System Release Certfcaton Matrix? (Choose three.)
A. VMware vSphere hypervisor ESXi

B. VMware vSphere Server

C. VMware vCloud Director

D. VMware vSphere Client

E. VMware vCenter Operatons Manager

Correct Answer. ABD

QUESTION 3

You are asked to restore a virtual machine from a SAN array snapshot. Which two actons must you perform to present
the LUN to the ESXi host to make the data available? (Choose two.)

A. Force mount the copy of the LUN if you are sure the original is not in use.
B. Resignature the copy of the LUN if the original is stll in use.

C. Restore the LUN to the ESXi host.

D. Add the copy of the LUN to the ESXi host using the format opton.

Correct Answer: AB

QUESTION 4
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In a standard Vblock System 300 confguraton with two VHBAS, a single SAN fabric has failed. How will the hosts be
impacted?

A. Both vHBAs will lose a single path to all storage devices on that SAN fabric.

B. A single vHBA will lose all paths to some of the storage devices on that SAN fabric.

C. A single vHBA will lose all paths to all storage devices on that SAN fabric.

D. Both vHBAs will lose a single path for some of the storage devices on that SAN fabric.

Correct Answer: C

QUESTION 5

During the deployment of a Vblock System 320, the customer stresses the importance of network security and states
that they would like to have a VM scan and capture all packets on the virtual switch to which it

is connected.

Which security policy should you set?
A. jumbo frame

B. MAC address change

C. promiscuous

D. port scan

Correct Answer: C
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